5.2 Corrective Assignment Name:

Pre-Calculus

Long Division Synthetic Division

1. 3x2+5x—10)+(x+3) |2.(6x*+x3—-5x) = (x?+1) 3. (—x3+3x3)+(x+1)

4. If (x — 1) is a factor of 10x° — 10x* — 3x3 + | 5.1s (x + 5) a factor of (4x* — 10x3 — 150x% — x + 3)?
3x2 — 18x + 18, what are all the factors of f(x).

For 6-7, a zero of the function is given. Find all the zeros of the function.

6. f(x) =2x3—-10x2-71x—-9; f(9) =0 7. f(x) = x> —5x* — 2x3 + 10x? — 15x + 75;
f(6)=0




For 8-9, use the graph of the function to determine at least one zero, then find the exact values of all the

zeros using the Factor Theorem.

8. f(x) = 6x3 —31x2% +34x + 15 m}x{nnuu

#wacl=1
VYmin=-28
Ymax=3a
Yacl=1@
LEres=1

9. f(x) =3x*+ x3 —30x% — 2x + 48

#Hecl=1
Ymin=-28
?max 188
Yecol=28
lEres=1

WINDOW H
Amin=-5
HMax=0

o

For 10-13, one zero is given of f(x). List one other zero.

10. 12 + 6i 11. —9i 12. 4i — 10

13. V13 + 2i

Answers to 5.2 CA:

1. 3x — 4+ — 2. 6x2+x—6—22° 3. —x% +4x — 4+ —
x+3 x“+1 x+1
4. (x —1)(2x? — 3)(5x% + 6) 5. No. Thereisaremainderof8. | o o _ 4 Vit
.9, + =
7.5, +iV3, £45 8 -, 2,3 9. -3, —V2, V2,
10. 12 — 61 11. 9i 12. —4i—10 13. V13 = 2i




